F/2024/7350 Total Pages : 6

First Semester
Agriculture/Aircraft MaintenaucefAutomobila/Chemiqal/
Cement Technology/Civil Engg./CTM, Computer Science/
CHM/Electronics & Tele Communication/ Electrical
Engg./ Electronics & Instrumentation/Electrical &
Electronics Engg. / Electrical and Mechanical Engg./IT./
Opto Electronics/RAC/Mechanical Engg /1C
Manufacturing/Mine Surveying/PRPC/Plastics
Technology/Printing Technology/Production Engineering/
Textile Technology

Scheme OCBC July 2022
MATHEMATICS- !
Time : Three Hours Maximum Marks : 70
j Note : i) Attempttotal six questions. QuestionNo. 1 (Objective type) is
compulsory. From the remaining questions attemptany five.
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i) Incase ofany doubt or dispute, the English version question

should be treated as final.
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) IfsinA= -2- » then sin 2A is equal to
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The value of 30° in radian
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Find the value of cos15°.
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Prove that
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Prove that
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2 tan 50° = tan 70° ~ tan 20°

Prove that
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Prove that
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cotA+tanB
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Differentiate e * by first principle.
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o Ify= log, x+x5 secx+10%, then find % : 6 ¢) Resolve Into a partial fraction. 6
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5. @ If y=x-tanx-log, x, then find -;—iyx- 2 (x—l)(x-2) i
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4 b)  Find the middle term in the expansion of (::—’4-5] ; 4 .
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¢) If y=(sinx)™ then find -:3’-;. 6 3
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